Graph each of the following cubic fanctions. Label the vertex, find all intercepts, and the range and
8) [y =(x-2) +3

domain of each of the following. Don’t worry ahout graphing the intercept if it is too far off the chart.

[
'
4

~~ N\
reo
)
s
l

r
s
P
~
y )
-
f'\
L

|
s

Vertex
X-intercepts
Range
Domain: ~
P
Vertex
Range
Domain:

Y-intercept
X-intercepts

s.;.......... » oPinsnssass pamrsasasss roop s
=] e ki 8] el b2 ..-.w. _.-.. ™ _1..- FOR SR S W A = 1R i L] .T_ !
£l 4 o | { 1 | —. 7]
.-'.....-.f.u..T.rL 3 S

L)

[

=
memclendend oo kol amt e as 1AD jeaclen § oo fescles o faw koo foas]
] ' ]

- saduepun

]
..n#.o.v:

1
CEY T
]

R R R CET R S _. D e o s et i nad ooy bl

O S G At e B ool B iR e - S

7..””4-”.”-.-”..”.”..wT,m L]
ﬁ !

I L ) 2 el { e IR 5 ol Y 21
| | - |

DS k. R B

. —1 ~
' e
R 2 5 I ]

CE [EE B R et st
g vl

R Sl e e e

N
N
. '
v .-....T-.-....A - S S N I J P
i) 1} 1) Sot? i 1
A.P TR Rit BT S ....\ | A .»’0.0.»!..\114.4..‘1 - 4
B N R AT B q\ I cegeperpedeayes gt
‘ = i {i4] i ‘
0 BT o ChT T S WV =, .c._oo.qla'04o04001n0v¢¢ﬁ|.-n'.‘wucn oooooooo 1|L0IJ¢~A_||-'.
. J . ' ’ |
- devarepeafnfeagecpan L IR EELEE S o o [ P . ) < T SRR S SR PR S S S J:.-T. B i st ot EERE Y
' B ' ] '
...,34..._::.-..«!.oJ_n.s..L,.. B B O A LT == >y m ..h...u..vu... sssssheshaclias uo..-v»......-».r.. .-.“...
t 0 ] >4
| {4 \ ' i \ i |
N -.“. . ..o..nq. Q-- Prareaes .-v...-._..-.v-. .-&.uca_l.vlc_nl ==p=cpe-p=-f-- @uctvl.ou#laﬂ'nﬁonf. -
Do A R RSN S e S ».-..A\ .......... 58 G Rl o o E2 e 215

0 g

295



]
’

-
e
o
-
j
S
N

Range
main

tereepts

3

X-intercepts
Range
Domain
Vertex
Y-intercept:

X

] R B DI R
i

.
S e R TR S [N PR .

SR Ck

..u..-.- ek

|
EEE DR S CEETAR SR DR PR

hedassas ] L T e e e o [ Lr Lo ) S NP S '-H.

e §ae P..r-.r.¢T.4..;.u . -

4

1

S e e

A TR (P S S N
| \

iadesdansactectocloladoas..

e S e

DR T S ..rnLr~4..|m0.rt.A

| |
CRE LR L SO ..L-vt.on.w..r'L

. L .

edectecked .1.-..-..--—...«1. .o.:.u.-.uwu. -._.:.._u.l .m..—.-.,...?i.»-.rL

waprroferfennas

=ofeecfreqeepos
i ! 1

padus lashocjeslan fasles ] o —ei-

-9 -8-7-6-54-3-2]-

,
N I JO P e
N

-

296



Ve SiOY

<910 ¥

Note .

Vertex

Jo ,
-
2

2 ”~
o ’.‘T
— P

Y-intercept
X-intercepts

||||||||

18]

1)
o

.
w

Range
Domain

R O

SRR EEDTEY (<D PR S o

~) N

Vertex
X-intercepts

........

O \©




Match the appropriate graph with its equation below. Explain why each of your solutions

is true.
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